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precautions Regarding Income Method

The following precautions are to be taken while using the income

method:

i) Transfer earnings like old-age pensions, unemployment allowances,
scholarships, pocket expenses, etc, should not be included in
national income. Because, corresponding to transfer payments, there
is no value addition in the economy. However, as already noted
retirement pensions are to be included in national income, as these
are part of compensation of employees.

i) Income from illegal activities like, theft and gambling, etc., is not
to be included in national income. As regards, income generated in
terms of black money, it is not included simply because no estimates
are available of such incomes.

{ili) Commissions paid on the sale and purchase of second-hand goods
are to be included in national income as these are @ reward for
rendering factor services.

() Brokerage on the sale/purchase of shares and bonds is to be
included in national income. Because this is @ reward for factor
services,

(V) Income in terms of windfall gains (like from lotteries) Sho“.td P
be included as there is no value addition correSmef“”g to windfall
gains. Likewise, income in the form of capital gains Is not to be

- treated as factor income.
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A Standard Precaution
Relating to the Use of
Income Method
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Precautions Regarding Expenditure Method

The followinﬁ Precautions are to be taken while using expenditure method

(i) Only final expenditure is to pe taken into account to avoid erro’ :
douhlecounting.Finale

§ i ie
Xpenditureisto beinterpreted asexpend!t!






Introductory Macroeconomics

Example 2.
Find NDPc from the following data.
Items @in c,%,h
(i) Gross domestic fixed investment 28
(ii) Inventory investment o
(i) Depreciation e
(iv) Indirect taxes 1%
(v) Subsidies A
(vi) Consumption expenditure 2000,
(vii) Residential construction investment 56k
Solution:

GDP,, = Gross domestic fixed investment + Inventory investment
+ Consumption expenditure

=% 10,000 crore + % 5,000 crore + < 20,000 crore
=% 35,000 crore
NDP;. =GDPy - Depreciation - Indirect taxes + Subsidies
=< 35,000 crore —% 2,000 crore —% 1,000 crore +< 2,000 crore
=< 34,000 crore
Ans. NDP- =% 34,000 crore.

Q.1. Export receipts are not a part of net factor income from abroad. Why?
Ans. This is because of two reasons:

(1) Exports refer to the purchase of domestical
produced within the domestic territory of

(i) Export receipts refer to revenue of the f

of factor incomes from abroad which

Q. 2. Exports are just sales yieldin
Ans. Itistrue tha exports are ju
are purch

ly produced goods by the rest of the world. Goads
d country are to be treated as a part of GDP.

irms from the sale of its output. These are not the receipt

are available in the form of rent, interest, profit and wages
g revenue, not income, Comment.

stsales and yield reve
. s of rest of the world fram the d
(receipts from sales), These

nue, nat income, Exports are just sales because thesé
. it omestic economy. Accordingly, exports yield revenu®
onotyield income, Because income i i | profh
b misale: . ome, Be S8, Income is 2 [orn & rest, prot
Or wages, Exports do not yleld any of these directly e
[Note: It is out of revenue that a firm

distributes incomes to the owners of factors of [_-Jmchn:tionl

iThe flow chart chart given on next page shows how estimation of nation?l

tl;cnme using diffelrent methods is reconciled. We get triple identity .
mr\:r:[ of the equality of estimation of national income using (1) produc!
uéadded method, (i) income method, and (iii) expenditure metho®
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Dos and Don . .
ational income:
llowing items in the estimation of na efore, not included in nay; .
Do not include the fo orh o ate transfer payments and, therefore, o i 'ONal ine,
 Thes ; w ot e
ot Abm:::unwance: This is available to .th°5‘:i é’:a'f?:so e, i
(i) Unemploymen transfer payment not included il el hce it
therefore, only a tr itis not included in national income since it a transfey ..

i i i Victims: : . : ; | )
(iii) Financial Help to Tsunami :‘ a Restaurant; It is not included in national income since i ist
(iv) Purchase of Vegetables by .

m

15,

intermediate consumption. . - in national income sinca i ;
v ll:':t:e:ses on Electricity by a Factory: It is not included in national MICE 1t is & pay of

| diate consumption. gl |
(vi) i::irn;?ﬁr;e Activities like Growing Vegetables by Household in his Kitchen Garden; By C“”Ventm

value added through such activities is not accounted for llil the sstérr?at:?‘l%fnjt::nzt mcom&/p"iduq
(vii) Services rendered by the Housewives: These are not inclu Sf mth: lur osecofme bf!l:agse it e
difficult to find their market value, and these are not re'ndere or- ey S CArMng income
(viit) Money Received by an Individual from his Son Working Abroad: It is not included iy Natigng)
income of India because it is a kind of transfer mcom-e. .
(i) Interest Received from a Friend on Loans offered to him for the Purcﬁase of a Motorbike: j; is fit
included in national income because loans are not used for production purpose.
(x) Corporate Profit Tax: It is not included in the estimation of national income as it flows qut of
profits as a transfer payment to the government.
[Note: If profit is not known (in any numerical question) we can find its value by adding up: (a) dividends
(b) undistributed profits, and (c) corporate profit tax. However, if the question is: how do we treat COrporate
tax in the estimation of national income then the answer is as in point (x) above.]
Do include the following items in the estimation of national income:
(i) Defence and Security Services: For maintaining law & order and defence of the country, the
government has to employ defence personnel, policemen, judges and others. The services of

included in national income.

(ij) Free Services by the Government: Free services by
medical facilities or street lighting involve expendit
government final consumption expenditure, Hence,
a part of expenditure on final goods and services, Th
using expenditure method

(iii) Employer's Contribution to Provident Fund:
the employers on behalf of the employees,

(iv) Rent Receiyed by Indian Residents on Buildi SERApr
0 in ian E India:
s income from the rest of e o 9s Rented out to Foreign Embassies in

the government like free education, free
ure by the government which is a part of
expenditure on these services is taken as
ese are included in national income while

Itis included in national income, since it is paid bY

: _ - | it
Included in nationa| income, d forms  par of et factar incame, from abread

(v) Profits Earned by a Brane 5 2 : i
since it is a part :f n:r h of an Indian Bank In London: It is inclyded in the national income

tfactor income from abroad,

(vi) Wages Receiveqd by the indian g - i national
income since Indjan empldveesn;ﬂ’aayl:“ Working in Pakistan Embassy: It is included in nation

i) . Istan Embassy are nor L resid di
(vii) Salary to Fore n Techni ' . mal residents of India. D
cEelices nation‘gl incnmefﬂl Specalists: As a payment of factor income to the ‘non-resident’























































































